Percentages L1 Mark Scheme
[1] Appropriate division
! 120+2 Allow method to use —~
100
60 [1]
[1] Appropriate division
2 440+ 4 Allow method to use 12750
110 [1]
_ [1] Appropriate division
3 560 =10 Allow method to use %
56 [1]
4 [1] Appropriate division
1000 +20 Allow method to use FSO
50 [1]
[1] Method to find 25%
5 712 + 4 (= 178) Allow method to find any standard
percentage leading to answer
534 ml [1]
[1] Method to find 20%
6 150 + 5 (= 30) Allow method to find any standard
percentage leading to answer
90 [1]
. [1] Method to find 10% and 5%
0, - =
7 10 A),' 720 i 10(=72) Allow method to find any standard
5%: "72" + 2 (= 36) .
percentage leading to answer
252 [1]
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8 [1] Method to find 2%
2%: 375 + 50 Allow method to find any standard
percentage leading to answer

7.5 [1]
9 450 x 1.5 [1]
675 [1]
10 860 x 1.25 [1]
1075 [1]
11 150 x 0.9 [1]
135 [1]
12 620 x 0.95 [1]
589 [1]
13 600 x 1.75 [1]
1050 [1]
14 720 x 1.6 [1]
1152 [1]
15 5260 x 0.65 [1]
3419 [1]
16 55000 x 0.925 [1]
£50875 [1]
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